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£~tl 
1. ~ ~-w -q ~ 150 c1~r1.so ~ 

~~,~,rn-~ch1'arcdu2~30 

~ti 
2. ~~c);~~atcnf;rmft:rt'ffffl 

'lW@' ~ ~ c); ~ '1cfiHit'icfi 3icn cfiT 

\llcl8.ii'1 ~ti 
3. ~ ,rn-~ 9,T~cfil ij ~ ~ f, ~ I : 

~ fclcfiH4 ~ffl~l~II¼ (V.~. 1-30) 

~II:~(~) (V.~. 31-60) 

mil Ill:~(~) (V.~. 61-90) 

m1f IV: '11fura',Rl~M (V.~. 91-150) I 

lf)uµlt> Gllcl tac1>1.z1 t!<iflTffl~na 

1. f.ti.:r "q ~ ~-m ~ ~ lfTtrcFi dQcfi~Oi ~ 
~ wrlfucfi c1i0-114 t? 
(1) fq :? <'H-hl <-ld l (2) ~'i:TT'IT 

(3) cl½;f-ibddl (4) "tfRcfi 

~ : (1) fc:fi"m ~ ~ * ~ 'fq)?qfh~i'-ldl' 
oo''l:r<fi ~ ~l'dUT i I 

► fq:?q(4 11<-1 ~ ~ 'WlR ~ * 3RfT@ GITT:-GITT: 
llN-1 ~ 'WlR 1ffil1TUT ~ ma- i1 

► fq)?q(41"1<-1ai fc:fi"m llN-1 ~ cfi1' ~ * ~ * 
ofrtll'~~~ i 1 

2. ~ o?.11' 'ft;rcf;t ~ -q -« ~ l:fTq'.f ~ 
~t? ~ 

(1) ~ (2) 3lf~ 

(3) ~ (4) ~ 

rm: 

4. f.n;r -q ~ ~fit•mW-fi ~ ~ ~ t'? 
(1) 4'1fcicfidi 

(2) WW 

(3) P-1aollP@ 
(4) 39£\'ifildl 

~ : (3) ~ cfiT ~ 3, P1ctcl1f.Q ctl ~'111itl-icfic11 B 
~~~t, 

► 1-i~f(."\cfidi ~ ~ m ~ Bln'tlR <$" ~ ~ ~ 
cfi1' ~ fin'-ll:m it mm t, ~ r~-r~ ~3fi .tit~ 
l!:cfi fin'-lT ww:rr cfiT -wn'!:.TR cR 1:fR ~ "BaFl mm t, m 
~ "Wla_f ~ i fq;-~ ~ 1-ftfcichctl ch1 "T1f -%1 

► ~~~amm~~cfft~3lf~cli1 
~ ~ %1 ~ cfiT ~~ ~ ~ ~ ~ 
cr~~cfil 3lf~~mmt, ' 



7.f.r<fllmw-n 

6. ~mw-n 

4. ~ ~ mw-n 

3. ~ ~cfilmw-TI 

2. ozyR~mw.n 

l.~mw-TI 

6. ~-~ $ ~-q ~ ~ t? 
(1) ~ ~ ~ ~ ~~ 
(2) i.fil<:"11jstif% 3WJ ~ ~a.-IB: ~~ 

(3) i.fil<:"11jstif% ~ ~ ~ ~~ 

(4) ~ oirl cfilciljstif% ~ -ey;n° ~ ~a.-IB: 

~ 

~= (3) m cfil ~ 3 ~ % fcfi ~-~ 
qilfiljstif% ~ ~ ~ ~ ~ ~~ %1 

~ = 1ffiRTcfi" ~ X 100 
frf~~ 

7. 16-PF 'cfiT "Q'm1T ~ lfrCR tu fcfim ~ i? 
(1) ½-5Hlciii.fidl (2) 3TT~ 
(3) ~ (4) ~ 

~ : (3) 16- PF cfil WWT ~ llflR ~ M -;jj@[ 't1 
► ~ "tffiijUT cfil ~ ~ ~ ~ % I ~ WI o1'.lfc@ cfi' 

16 ~ cfil 'l-tT91 \l]'@l %1 
► ~ ~ r,=r ~ -q 'ffi'1 oW cfi' ~ ~ fitaSlcfifa 
~. a.-TtrcfT ~ oin ~ ~ cfil 'ft'lTTcm 
%,n !1 

8. ~ 'cfiT ~ ~ ~ ~ h m? 
(1) ~ (2) ~ 

(3) ~ (4) ~ 

~: (1)~ "cfil nIB ~~~~WU 
~~~I 

► ~~$ ~ "G" qiRcfi"cfi 3l@WRf, ~ $zj 

. ~ 'liWfi ~ %1 <l %-"o'ffl 3lR oTft' ~I 
► ~ ~ cfil 1FWT ~ ffl cfi' ~ ~ \l]'@l i ~ 
·- --~~m~tl 

------------------------------ --------------------

~~2013 ~ 

-------- ---
► m $ 3FJ ~ -~, ~ WI ~ cfil ~ 

~ , ~ WI ~ qiRcfi ~ oirl ~ WI 

°fu-<fiWfi mRl ~ ~ ~I 

9. ~ $ ft~Mii"icfi fcrcfim tu ~ ~ ii 
(1) ~ cfil ~ 

(2) ~~ 

(3) tR 

( 4) ~ ~ qia_TT cfil q@]cRUT 

~ : (4) ~ cfi ft·~Hlc-4/;fi fclcfirn ~ fcrwci'7-l ~ q;a_TT 

cfil q@]'cR1)l ~ ~ %1 
► ~ ~ qia_TT -q ~ ~ ' ~&,UT ' Wclm ' ~ ' 
~ ~ . w::rT~. ~ . ~ ~ fi~Hlc-1-tcf> 

~ ~ ~ ~an cfil wur ~ ~ ~ . 
fcmRul , ~ . "3;lffi'll oin ~ ~ m ~ ti 

10. 3mmuTT ~ ~ ciA-~ ~ f? 
(1) ~li=Fi'lli.fidl 

(3) m 
(2) ~ 

(4) ~ 

~ : (1) '3-tl<W-li.fidl' (Need), 3TT~ "cfi1° ~ -q 
-sr~~-%1 

► fcf;m ~ cfil" 3-tfu <TT cfi1TI 61lcPMcf> di ~ -% I 
-:Alc/Mcfidl cf1 ~ m ~ ~ t-

► 1. ~ 6Hq.'Flcf>dl (Biogenic need) oirl 2. ftll-tlf,.jjcf> 

~ li:l~lli.fidl (Sociogenic Need) I 

► m * ~ ~ tj't 31f'lfflUTT -it ~ ~ "cfil 

f.,qfu"cfiTcft1 

11 . ~-q: ~ ~ ~ qft:qd.:t, 'ffi" ~ ~ 
"cfil'raT ~ t, cn7' ~ ~ t, 
(1) mw-fT (2) ~ 

(3) fifi<TT~ (4) ~~ 

I
- , (1) "lo/,R if -.iFI q@ ~ sft,,,!a . '" 3MRI ,;; I 
_ ~ ~ t ~%I~ %1 _ 

(1) ~ 

(3) ~ 

(2) ~ 

(4) ~~ 

~ : (4) ~~ (Feeling),~ ~ ~~ ~ i1 
"Pffrr -q "ilR NiR cfiT d4fii@t mft f-
l. mw-fT (Learning) 

2. ~ ~ (Retaining) 

3. ~ (Recalling) 

4. ~ ~ (Recognising) 

► ~~ fcf;m fcmlif ~ -q m qfffi ~ i1 



r e UPTETif.Sffl (6-8)-affercr/~ifcn-2 

13. ~~~ff!~•~ cfiT c$T ~ t 1 

( 1) 6-1 I q ii' ll •:frn I 'cf;T ~ (2) muftcfi ~ 
(3) ~ $'c€91ii'lfckl ~ (4) ~ cf;T mRl 

~ : <1> ~ * 3lf~ ~ cm 3-Jjq)iiljcfiffi q;l 

~ (Theory of N eed) ~ ~ "%1 
► ~ ~ llRq -;;ftcR "cfil ,j,jjq)ii<.lcfidl3TI cm ~ ~ -q" 

fq~ f<fi<TTI ~ ~ ~ ~ ~ m "cfi1 
6-tlq)ii<.jcfia,-m "cfi1 ~ ffl -t m ~ ~ ~ "3,3q m ceft 
~"ct~~ffltl 

14 . ~1'11&.IIQcfi m cffi1io' fu~ ~ ~ fq[IIW-1 ,q 
~-m~~~t? 
(1) -mIT~ ~ (2) !Nlldlf.-:iicfi ~ 

(3) ~~ ~ (4) ~ "B "cfiW ~ 

~ : (2) "ST~~ ~ cfroio fu~ $ ~ fcffi'TW.:r -q" 

Sl"1idlf.-51cfi ~ ~ 'ffiR i1 
► Sl"1 Id -'SI lfl-l cfi ~ -q" ffilWf, fl' "B "fcR.m:-fcilro ~ ~ . 

fl' "cfi1 mcTrn ll' ~ a1~ 1.mfi<.11 cm 3TT1T ~ i, 
fl' "cfil cfifd-il$<-ff ~ rcRITT: "cfi"m i ~ ~ m~ ~ . 
~ -q:q' Q_cfidi'!_uf ~~ ~ i1 fu~ cf>'llt '1ft fl 
~ ~ fc:Rm:, ~ "Q_q' ~ ~ "-i"ITT' i1 

► ~ * ~ ~ ~. 'ffiff~ ~ "cfil ~ -q" maJcli" 
~ q7f $ ~ "ITT<f i I ffilWf, fl "cfil 'lllcRT3TI "Q_q° 

~311 cfi1 ~ ~ ~ ~ ~ $'3€91::[l-ll< ~ ~ ~ 
<ifl'U:f "cfi"m i I ~~ ~ ll' fu~ fl "cfil ~ '1ft 
fsf;-lrr ll' ~~ ~ "cfi"m ~ ~ ~ ~a}q * ~ 
fu&lUl cfiTlf -;;_:rm -me) i1 3m: ffl3IT "cfi1 3N-n ~-m ~ 
"SJIB~"ITT~~~i1 

15. "•wtf~cfi fell~ ~ ~ cfil ~ 3fu- ~ ~~·•~"cfiT~~*· 
(1) ~ (2) ~sl/il"'s 

(3) WTT (4) ~ 

I 

~ : (3) WTT $ ~ . ,, 41-ifocfi ~ $ f.F:rqr cfi1 I 
_ ~3ffi~<iR'TQ,~3l~cf>T~~i1" _ 

(3) Slllllfilcfi ~ (4) ~ "@B 

I "':' i, (2) irn aw q,f;g ~ 1!IB "if ~ 1 
17. ~ f44h+-i4 i1 

(1) l-l.:ifi'14{cfi 

(3) fi~•lifl-lcfi 

(2) fshll14{cfi 

(4) cl "l-!'tjt 

~ : (4) -i:i1'1~~1f-,cfil <ll ~ ~ ~ cfil ~ (!~ 

~fi=.RA"cfi1<W«<Tiil 
► i11'1~~1f.,cfi1 ~ ~ cn1 fci:Fl-f'IF'f WT "B 1ffe~ ~ 

o~~~f.rcf;@Tfcfi"-
1_ ~ ~ $ m?-T .,...,l-l 4rrnl ll-rr:-:h:r.:r,.:i (Adjustment) cfit,\ 

"cfi1 ~ i1 
2. ~ ~ "cfi1 ~ (Ability to learn) %1 
3. ~ ~ FRR ffl cf>1 a.,t:lefl (Ability to carry out 

abstract reasoning) %1 
► ~ ~ 00~ ~ cf>1 -:R1 q+.nf<cfi -qft'qllS{f mwr cf>l 3fu 

cm f<ii "~ -m&lUT ~ i::rr4<TI i . cfeft ~ i1" 
19. WUTTcnT~ ~ d4Mf~ if t", sitT ~ 

cfif_~t-1 

(1) "dcfi 
(3) -an~ 

(2) ~ 

(4) ~ 

~: (3)mUJT cnT cffll ~-4.l ~"Bi.~ 3if~ 
cnT -an~ "B i1 

► -an~ "B cmq-4 quf;:r "cfi"8T . q•ITcfi(Uj cwTT ' ~ cfi"<11 , ~ 
cfiBT , ~ "cfi"8T . ~ "t.lT' 3'.f?.lllR cfiTrfT . ~ 
cfiBT • ~ cfiBT i1 ~ ~'4t -3'.ffwn:r B ~--ml ~ 
~ i, 



: (2) "51"<119cf>IU 3Tcrotc.T ~ ~ ~ -%1 
~~ $ ~ ~ ~ ~ ~ 37{~ 

'1 ~-~ <fiTT ~ cITT ~ ~ l--f'Ul * fcfim" ~ 
~ 3l~ ~-~ cfi1 ~ "tl\ ~ ~ ~ cITT 
,n,n*~cfillf~m~i, 

f.iVt~f-Olo -q: ~ iwt fu cfi ~ * "Ra_:run cfit 
zz. ~ ~ t fw.mf, 

(1) ~ <$ (2) cRlc{ <$ 
(3) ~ <$ (4) ~ cfi 

~, (3) m i;; ~ a -, 3lfu1t.a weft ~ \ 
~~~~%1 -

23- fcrcfim $ ~ cfil'R cnT '~ ~ afir 
(fflqcfif"i:fiffi '~llm"t? 
(1) fcfi:di{l<:H·l!-11 (2) ~ 

(3) -q~ (4) ~ 

~ : <1> mm sf}-q cf,1 fcfi,d1<1q~ cfi1 , ~~ ~ 
3ll\ w{Tcf cfil ~ · '1A1 Tfiil %1 

► ~-~-~ * ~ Fcfi~11<1qwi ~ an~ (Rlq ~ cfll 

cfil{U1 ~ % ~ ~ cfi1 ~ 3lcl: "SRUTl3TT (Impulses) 

~ qft_qct -1 q l<!, ~ ~ (Radicalism us. 

Conservation) . (-lq<!,-1~rlci ~ cfioffiTT (Sensitivi ty 

vs. cruelt y) ~ ii' m< ~ ~ tITTn %1 

24. QiciMlcl ~ ~ $ ~ - ~faf~~I ffl.it;_I~ 

cliT ~frl@~-t _ _ -qr 1PWl ~ ~ m1 
(1) mTJm (2) ~ 

(3) ~ (4 ) ~ 

I
~ = (3) ~ ~ ~ * 3¥-4-.R-~ ~ I 

. ~ ~ ~ ~ "Sl<WT ~ ~ ~I -

25. ~*~' 
<1) mm cf,1 wTfu * ~ % 
(2) mm cfi1 i:t1f("icfi d l cfi ~ % 
(3) mm * •1C'll1 , 1-1cfi ~ * ~ % 
(4) mm cf,1 {'i':Hic"-lcfi * ~ % 

~ : <1> ~ * qsfi mm cf,1 wTfu * ~ %1 
~ cfil ~ ~ cf,1 l-ITTTT cf~ 31'1-Zfm cfi l--fv::J ~~ 

cti1~%1 

26. ~ * ~ 3-iWIQcfi ch1' f.:,i;,fMf,&a -q ~ 
fttiftcfi l ~WR~~? 
(1) ~-~ 

(2) ~ cfil ~ 
(3) ~qfcfucfi f'lFTTTT 
(4) ~ cfil qj f<q lf{cfi "To~ 

inl"'Eis ~ 2013 G 

► m~ cfil ~ . ~ cfll ~ . ~ ~. an-q~ 
~ cfll Ul'R wrn ~ m~ q,8 "B ma_.nm ~ m~ 
"<!,A"l'~mai1 

27 . cfii#lfl4-t * ~. ~ -q ~ qfic1J-t ~ t 
~-' 
(1) ~ ~ % (2) {'i-.Hlc"-lcfidl ~ % 
(3) .,ra~naa, ~ % (4) "WTfu mi 

~ = (3> cfi28fq-1 *~.~*\ill ~ma% 
~ •lfMOcidl ~ %1 

► cfi28fq,j * ~ ~ TJfuq;'t "B ~ ~ *. fq1<'it:1cfi { 

~~<$"3"-1'G~>t'l'.lTclT"Bmffi i~~ 
cfi1 ~ "Q'.cf, f.ITT"+.@ Rm "G ~ mffi °% I 

28. q1-, fflcfi ~ afir -q ~ ~ t, 
(1) an~ (2) f<ficf>i4dl 

(3) ffl (4) fll-1l4hH 

I 
ci!ITT9!n : (4) l--fRfi:rq:) ~ 1if@: qldlq{Uj ~ fcn'IF{ ~3ll' I 
~ "BT~ fl\ 1'i t:1 "11cfi wr "B Bl-1141"11 ctiB "<fil ~ fficfT %1 

29. ~ -q ~ cfiR ~ cnT 3TTW-fi f<:l d.-;ldl 

mfr t? 
(1) fl°< 'i-.l-1iqj <!_ 

(3) ollqt F(q l<!_ 

(2) f<;filli ~ll cidlq i<!_ 

(4) -l-i"1 1 ~llcidiqj<!_ 

ci!ITT9!n : (4) (·i'3H~llcidlql <!_ an~ cfi1 3if'elcf>" f4d.-5!dl 

~%1 
► l:f•Hl , l-1 cfi al "G <x#:@ an-qmu ~ ~ ~ ~ ~ 
~ ~ ~ 311 cfi1 ~ "cfi"«fl i cf?.-11 ~ fq~J\1:101 

cf,{ an~~ t i 

30. f.wtfMfoM if~ m ~ cf,1" cn"R-m -fufu t ? 
<1) fi:n~ M~ <2) fcri:ITT-mm fcn¼ 
(3) (1) 3W (2) (4) m' "B cfiT{ ~ 

~ : (3) fi:n~ M~ 3fu: fcri:ITT-mm M~ -ey;n= m 
~ ffl cfil fcn~ i I 

► w-~ fcn'l:l. -rit cf~ am fclf¼ cfi1 ~ ~ i , 
► -rit w-~ -q ~ fcfi1!. ""1R q@ ~ "C!lo cfi1 ~ "B ~ 

cfcf, ~ -~ ~ ""1"@l t cffi' am fcn¼ * <l'R fcfi1!. ""1R 
q@ -q]o cfil ~ ~ ~ ~-q ~ ~ fifi<TT ""1Tal %1 

► fi:n~ fcn~ -q ~ -rit fcn~ cfll w:ttTl cf,{ cfifcR ~ cfi1 

"Cfql WW-TI ""1"@l t m am fcn~ cfi1 ~ "B ~ "fl'll--fm 
cfi1 w:ffi ~ ~ ~ cfi1: ~ ""1"@l i I 

► ~-~ fcn'l:l ~ '1ft ~ cfi1 ~ ~ -q ~ 
q,8 cfll fcro~ cfiW ti an~-~ cfi1 ~ ~ m. 
~ 3fj<qql cf~ ~ Tsfi<-11311 ~ ~ ~3ll' "B 
~ ~ ffl cfll ~~~I~ "<t ~ 
vibgyor ~ ~~ "<t "{lll cfi1 ~ ffl -q ~ ~ 
~ ffl %1 

► ~ ~ "B ~ ~ "B m ""1"@l t i 

l 



~~--~ . " rit,'l't? 
tl'.!!I UPTET ""'1 (6-B) ..tarn! -.::;:fl}) 1'!ftl--,,sfl{_, ~ flli<' (2) 1'f9. ~ 
V ~ - T"~· __ ~ (4) ~ ~ 

36. ~ 

~ : (1) ~jljjqjc,1 ~ ciiT 0'-RT ~~ ~,Jj<,I= ~ 
&RT fuR9o ~ (1918) -q' ~ tft l? I . ~ 
f!f>i:ilH.:.;;1 1IB &RT ft;,fuIB ~ ~ (1920) -q' ~ 
tft t, 

~ ?;JTI 

(1) ~GR~ 

(3) GR~ 

(2) "512lll on:~ 
(4) on:~ 

~: (4)~-~ ~ f'lFr-f'lFr , ,q:-,q: ~ ~ ~ 
~ ~ ~ ~ ffl !Mi•lqli{l ~ ffi ~ -q ~ ~ 
~ cfifc@ran cfi" mffl' qi1 'on: ~I ~ t1 

► on:~~~~mm-t~~-q~ 
Wf fcIBm ~ . ~ ~ . ~ ~ '~~; 
'o/o 'lffUT ~ . "51~ ~ ~ ~ ~ nTl)n­

~ t, "' .,, ~' 

(1) ~ ~ ~ qft ~ i1 
(
3
) ·~· ~ ~-~ (1971) , ~ \) 

~ : ~- ~ ~ (1987) 11.'I> 1!<'ft -.\; ¾ 
3¢ 80) , W 
r,ft (

19 ~ (1971) 
(1995) _--dr - 3Wl cfiT 
~ ~ -S I'- ' - dcff (2003) 

(2) ~ ;:; ----

(3) Ff?TT 11T ~ cfiT t? 
~,akf1>W ..._ 

cfil.f-"fff -~ ~ ~ 37. tfi ~ ;;}i l'<-

(1) ~ 
(2) ~ ~ 
(3) ~ 
~ 

(4) ~ 1J:cfl ~ aq~IB iil i<:-i ifiwr ~ 
~ : ( 1) -fl1 3Pfff 

cfi1 ti Uftcticil<:1 - (1899) ~ U1=J lffiTT (3) ~ 
► (2) ~ (4) ~ljji-m-.qGi .,jjljl-jl ~.-J 
~-~~~ 

~: (2) 'llTey,' aq~lft cfiT en"~~~ cfimqc ~ili1U 
~t.~~~. ~ ~ ml-TTUT~~~ ~ 
~ 3W BlltfTT fcro~ qi(llq{ofr cfi1 ~ ~ ~ I 

39. <lifcr 1'i:,,c,a:1« <tt "iliR-m ~ am <IU1i-~ 
cfft~~ctf ~-q= ~lft~t, 
(1) \fGtjf ~i:fil 
(3) ~ (2) cfifq fSl<l l 

(4) «A~ 

qtrtj_. ~ '{1l4=q f..;:cfi1 (1601) 

40. •~1,f~~~~~~;;~;;@ 
? :" ~ 

(1) ~ 

(3) (2) ~ 

(4) ~ 

~ ~ t, ~lftft•<-11 i 11~<fff1 t,q @; ~ ~ 



~ ~ ~ ~ 'ft;rQ: :?Jilc4~4cfi~U ~I 
41, ~cfil~ffl 

(1) 

~~2013 e 

48. ~ ~ldi(cffili -q 3l ~ cfOT ~ ~ 3rnfT t? 
(1) aft (2) 31 (3) 31: (4) 311 

(2) ~ ~ cfi1 ~ ffl 
(3) ~~cfi'vil 

\ ~ : (3) ~ ~ ll ~. 31:qUl ~ ~ 31TcTT i1 \ 

(4) ~ ~tjt 

~ : (4) ~ ~ ffiarcti ~ fu'Q., ~ cfi1 ~, 

~~cfil~ . ~~cfiBT ~cfil~ffl 
~ii 

42- ~~~~~t, 
(1) qi~ zj'~~ 

(2)~W1l@t 

(3) 3i$TI~ 1JU1Tffi 
( 4) ~ 1JU1Tffi 

~: (2) ~re~~~ fqf~ ~~ti I 
43. ~cfiii•M ~ ~ ~ ml~ cnrct ~ ~ 

~-~!? 
(1) ~~~ 
(2) ~ ¥1~~{<;_\fi 

(3) l.-lf,';i;\<!_H~ ~ q\~P-H '~• 

(4) ~~ 

49. "rn cfiT ~ ~ cnm" ce1~i~1 ~ ~ ~ 
~ t, 
(1) ~ (2) ~ 
(3) ~ (4) ~ 

1~: (l)"~ cfil, llffi' 9@1" ~ mill ~I 

50. €\l--itqg(-1 - - cfiT ~~ ~ t, ftc@ ~ 
~~~~~m? 
(1) f~IMcficil (2) ~ 
(3) ~ (4) B-!14~cficil 

1~: (4)~ ~ cfiffi cfi1 ~:Ia~ i1 
51. __ ~ ~ fctictiJ&..1fct'l~ GRT ~ t, 

(1) ~m (2) ~m 
(3) mm (4) 31fqm 

I~ : (1) ~m ~ cfi fcfi.cfict~fq1~ ~ ~ t, 
52. ~'~cfi~'qffl-m~~l,3tfi? 

(1) 'cfi (2) ~ (3) 31T'cfi (4) 31'cfi 

\~.' i~"'"'"" qi\ - ,I;"""""' <m ·~ \ 
\
-' (4)''""""' ""',I;"" if - """'Wll S3ll t, I 
. ► ¼B- "W9 + 3,cfi" -~ -

44. f-1"1f(-ifo1a -q ~ '~' q1J'T t, 
(1) c:" (2) ~ (3) q_ 4) ~ 

45. f•Mf(-if@a if ~ '~' ~ i 
(1) R (2) cfiTo 

(3) ~ (4) c!iT11 

~: (3)~~~i, 
► ~~ ~ ~ ~ funr. ~ t c!~ ~-q ~ ~ 

cn1~ 'cfi1 ~ m ~ ~ t. ~ ~ 'cfi1 cfcWl ~ 
~i, 

46. ~ ¥1iid.®li it ~ 3lA' cnm ~ t, 
(1) q'c@ (2) ~ 

(3) 'qsfi (4) ~ 

~: (l)~ ~ -q ~ ~ clR'l1 qt@ i1 
47. "~ 'cfil ~ cnf.t cnm'f c11cP-1i¥t cfi futt!: ~ 

~t, 
(1) 'fl~ (2) ffi 

53. ~ -q ~ ffl-m ~-~ efiT 11UT ~ i? 
(1) ~ (2) d4¥@cll 

(3) ~ (4) c;fi~iil.i;cl\ 

~ : (3) I~• ~-~ cfil "T1l ~ i, 
~ ~- (1) ~ (2) ~ (3) ~ <) "B'GT 

~~cfi:ItJTil 

54. '3P,:(T ~~I~~ i? 
(1) ffl ~ (2) ~ 1111 
(3) ~ ~ (4) ~'Gl ~ 

55. f-11.-1fo1foa ~ -q ffl-m ~ i? 
'~ cfim ~ ~ ~' 
-iFi~~~~II' 
(1) "d"4"GT (2) "dc'9~ 
(3) ~ (4) ffl 

(3) 'fl~ ( 4) ~ 

~ , (3) ...... qi\ """' """ =" """""' .., fu>l;"'" I 
~'fl~t, -

~ : (2) ~ "G "dc'9~ ~ -%_ ~ "G ~ ~ 
"'1 "BPIWRT "'1 ~. ~ "dc'9~ ~ ~ ti 

.n"Z:- "dc'9~. "d"4"GT, ~. ffl , ~ "'1 ~ct~ 
~ 2016 -st. ~. (32) ~I 



....A- fQnar q,R-2 e UPTETcli4'fT (6-8) «,uum/ 

~~, 
56 '3rlirlr~1Tcf1R, mt~«AT{, ~cfifcf 

. ~-~ll«f~~~mr, 
~ ft;Rit ~ q"fai,41 t? ~ 
~·" ) ~ (4) 
(I) tc:i (2) ~ (3 . "] 

1~: (2)<? ~~~IDU fi;:Jfu@ tl i°? 
57 '3mmT ~· ~ ~ fc:fiffcfii ~ ~ 

. ~~ 
(1) olfc:t,J.jtj'i!, ~ (2) ~ ' 

(3) ~ (4) ~ 

58. 'ftrar ' ~ ~ ~ ~ i'? 
(1) mR~ (2) 6'TT~ 

(3) ~~ (4) ~ 

l)rwlO►) English 

61. Choose the correct antonym for the word 
given below. 

Debtor 

(I ) Reluctant 

(3) Sta t ic 

(2) Rigid 

( 4) Creditor 

Explanation: (4) Creditor 

► Debtor means a per son, group or organisation 
that owes money and creditor means a person, 
company etc. that somebody owes money to . Hence 
creditor is antonym of debtor. 

62. Form verb from the noun given below. 

Depende nce 

( I) Dedending 

(3) Dependa ble 

Explanation : (2) Depend 

(2) Depend 

(4) Depender 

► Depend is a verb form. All other options are 
rela ted other parts of speech. 

Depending Ground form of depend 
Dependable Adjective 
Depend er Noun 

63. 'Indian Weavers' is a poem written by which 
of the fol1owing? 

(1) Sarojini Naidu (2) Cecil Spring Rice 

(3) Charles Mackay (4) Ralph Waldo Emerson 

Explanation : (1) Sarojini Naidu 

► The Indian weavers is written by sarojini Naidu in 
1971. The poem talks about weavers making 
garment depicting the different stages of human life. 

. (Q Nos. 64 and 65) Find out the word Direct10n · . 
eys the given meaning. that conv 

64. To make more rapid in speed 

(l) Speedier (2) Accelerate 

(3) Affianced (4) Abdicate 

Explanation : (2) Accelerat e 

► If something accelerates, it st art s to go faster . 

65. Mental weariness from la ck of interest. 

(1) Exile 

(3) Enunciate 

Explanation : (2) Ennui 

(2) Ennui 

(4) Expiate 

► A feeling of being bored and mentally tired caus~d 
by h~ving nothing interesting or exciting to do 151 

ennm. 

66· Find out the grammatically wrong sentence, 

(l) He feels bad about the defeat 

(
2
) All the boy scouts wear half-pants 

(
3
) He hopes to secure good marks 

(
4
) Gavaskar is the Bradman of India 

Explanat· ~~---------- · t 
► I ion : (1) He feels bad about the defea · d 

n sentence (1) d fi . . t be use 
before th e Illte article the will no 

e Word defeat. 

67. Supply th . . iJ1 tbe 
follow· e correct preposition 

Ing d 

I Prefer Ch . relldiJ!e 
english aucer --- Spencer in 

Poetry to 
(1) than . (4) j11 

(2) from (3) to 

[ 
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tion : (8) tn ~ 72. Which is not a quality of good handwriting? 

(1) Legibility 
1t1tl ll . . 

,i,:~P . ,1,o:- it ion ' to' 1s w.,cd with verb- prefer. 
I '1'\l<' P'l -
1
1 

• d out tho grammatically w rong sentence 
-~ f' tll · 

(11· I • h 
(l ) Ld· rn(' pllL my s,gn ore 

(Z) •rheso cnttlc are m1ne 

(J) H(' hopes to secure good mn rks 

(4) Oovnslrnr iR thu Bradman of India 

E~~l ) Let me put my sign here . 

'fhe correct sentence wi.ll be 'let me put m 
)) ' • 11 'I'h y signature is_ L 10 noun . ~ phr ases put yours 

signnturc. gJVe_ me your signature write your 
signature and s1gn your name is used in English . 

69_ Choose the correct synonym for the word 
given below. 

Treason 

(1) Disloyalty 

(3) Miserable 

(2) Passion 

(4) Disappear 

Explanation : (1) Disloyalty 

► Treason means the crime of being disloyal to your 
country or its governmen t and disloyal means 
doing or saying things that do not support your 
friends, your country. Therefore synonym of 
'treason' is 'disloyalty'. 

70. What does the followi ng sentence mean? 

Pt. Jawaharlal N ehru loved to be up with 
the lark. 

(1) Nehruji woke up early in the morning 

(2) Nehruji was punctual 

(3) Went to bed early 

(4) Did not wake up early in th e morning 

Explanation : (1) Nehruji woke up early in the 
morning. 

~ The phrasal be up with the lark has been used in 
the given sentence which means to be awake at a 
particularly early hour especially at or before 
sunrise . 

71. Synonym of the word 'Cajole' is 

(1) Coax (2) Evince 

(3) Congratulate (4) Clarify 

Explanation : (1) Coax 

(2) Distinctiveness 

(3) Spacing 

( 4) Absence of uniformity in th e size of letters 

Explanation: (4) Absence of uniformity in the size 
of letters. 

)., In a bad handwriting, the letters are not properly 
formed or shaped on the other hand the 
handwriting in which the letters are properly 
formed and spaced, size and thickness of letters is 
proper , this type of handwriting is classified as 
good handwriting. 

73. Remedial teaching involves 

(1) Teaching and testing 

(2) Testing continuously 

(3) Teaching, t esting and reteaching 

(4) Teaching difficult topics 

Explanation : (3) Teaching, testing and reteaching 

► For evaluating the progress of a student, it is a 
good method for remedial teaching. 

7 4. The Right of Children to Free and 
Compulsory Education Act was proposed by 
the Indian Parliament on 4th August, 2009. 
When did this law come into effect in India 
except the state of Jammu and Kashmir? 

(1) 5th August, 2009 (2) 11th J anuary, 2010 

(3) 1st April, 2010 (4) 1st July, 2010 

Explanation: (3) 1st April, 2010 

► The Right of Children to Free and Compulsory 
Education Act , 2009 produces for free and 
compulsory education to all children of the age of 
six to fourteen years, came into force on 1st April, 
2010. 

75. Choose the correct answer. What is rote 
learning? 

(1) Mechanical or habitual learning without 

understaning properly 

(2) Learning with great zeal and enthusiasm 

(3) Learning without interest 

(4) None of the above 

► h. b Cajole means to make somebody do somet mg Y 
talking to them and being very nice to them ~nd 

coax means to persuade somebody to do somethlfig 
by talking to them in a kind and gentle way. 

Explanation : (1) Mechanical or habitual learning 
without understanding properly. 

► Rote learning can be defined as the memorisation 
of information based on refection. The two best 
examples of rote learning are the alphabet and 

Therefore, synonym of cajole is coax. numbers. 

I 
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76. Choose the most appropriate meaning 

the given phrase . 

Fabian policy 

(I) Dictatorial policy 

(2) Democratic policy 

(3) Market policy 
( 4) Policy of using gradual reforms 

Explanation : (4) Policy of using gradual reforms 
► Fabian policy is related to Fabius Maximum, w~o, 

by carefully avoiding decisive contests, which 
means a policy of delays and cautions. 

77. What is noun of the word 'Padagogic'? 

(I) Pedagogically (2) Pedagogical 

(3) Pedagogue (4) None of these 

Explanation : (3) Pedagogue. 
► Pedagogue is a noun which means a school teacher 

or an educa tor. Pedagogically is an adverb. 
Pedagogical is an adjective. 

78. Choose the appropriate answer. 

What is the bitter truth of school education 

in India? 

(1) High quality teaching and learning 

(2) Emphasis on memorisation and completing a 

pre-determined syllabus 

(3) Government and private schools are quality 

wise good 

( 4) Every child in school pays attention for his 
growth 

Explanation : (2) Emphasis on memorisation and 
completing a pre-determined syllabus. 

► Emphasis on memorisation and completing a pre­
determined syllabus is one of the serious problems 
of school education in India. 

79. Name the poet of the given poem. 

The Solitary Reaper 

(1) P.B. Shelley 

(2) Keats 

(3) William Wordsworth 

( 4) Coleridge 

Explanation : (3) William wordsworth 

► "The Solitary Reaper" is one of the best k . nown 
poems written b~ W~lliam Wordsworth. It is a 
ballad and was mspired by his and h' · 1s sister 
Dorothy's stay at the village of strath . 

1 . yre m 
scot and m september 1803. 

of 

wrongly spelt . 
l ti th! words are 

a w JllanY ? go. ._-,.o below· 
sentence wraped 
The nurse 

a bhanege rou.lld 
~~ 

(2) 2 (4) None 
--------

bead-

(1) 1 

(3) 3 

. n. (2) 1 d . 
E Planat10 · ngly spe t wor s m the o.; 

" two wro t:,<Ve11 
► There are . . 

sentence. - Correct spelh~g IS_ wrapped. I 
(i) Wraped _ Correct spellmg 1s bandage_ 

( .. ) Bhanege 
11 • t t appropria e answer. 

e the JllOS 
81. Choos bably sleepy, because You 

•You are pro ---------
. g a lot 

(1) are yawnin 

t Out for lunch 
(2) wen 

t much chocolates 
(3) ate oo 

(4) watched a movie 

. . (l) Are yawning a lot. 
Explanat10n · 

. -5 usually triggered by sleepiness or 
► Yawrmng 1 . 

f 
. It 1· s an involuntary process of opening the at1gue. 1 

mouth and breathing in deeply. 

82_ 'King Lear' was w ritte n by 

(1) Tennyson (2) William Shakespeare 

(3) G.B.Shaw (4) T.S. Eliot 

Explanation : (2) William Shakespeare 

► King Lear is one of william shakeaspear's most 
famous tragedies, based on a legend of the leir of 
Britain a pre-Roman Celtic king from mythology. 

83. Idientify the correct reported from of the 
given sentence. 

My friend said, "You must accept this gift." 

(l) My friend asked , "You must accept this gift.' 

(2) My friend said that you must accept that gift 

(3) My friend requested that I must accept this 
gift. 

(4) My friend· · ,.;A 
ms1sted that I must accept thati,j.l• 

Explanation . (4) M . t 
accept that ·.f Y friend insisted t hat I mus 

g1 t. 
► Here must . 

'insis~ed' will b~ used to e m phasize therefore 
the correct repor ted form. 

84. Verb of 'AI 
ternation' is 

(1) Alternative 
(3) (2) Alter n ation 

Alternate 
E I 

(4) Alternatively I 
xp anat· 1on:(3)AJ -------- ·on• 

► Alternat . ternate is the verb of alternati 
► Alterna/-AdJective 

ion-Nou 
n, Alternatively-Adverb 

I 



following sentence has been marked 
i,5• '!,1::b 1, 2, 3 and 4. Select the part containing 

J1 error. 
a . 

8 
is not (1)/ the first time (2)/I am hearing of 

Thl d. . ( ) 
/ 

ur insubor mat1on. 4 
(3) yo 

----=-----=--~-:---------. tion : (2) I am hearing of 
oiplaita . . 
v When the verb-hear . 1s u~ed m _the sense of to 
'l . t n what someone 1s saymg, usmg your ears in 

liB e b 'h '. . , 
this sense the ver ear 1s not used m continuous 
tense. _______________ __] 

6 In the given two sentences, select a word 
8 · which has the same m eaning and can be 

used in the same context as the underlined 
part of both the sentences? 

(A) The organisation was est ablished at the 
begining of this century. 

(B) The little girl could not twist the cap off the 
bottles. 

(1) Crack (2) Break (3) Loosen ( 4) Turn 

Explanation : (2) Break 

► The verb- 'break' is the best option because it can 
be used in the place of to be damaged and reported 
into two or more pieces or to begin. 

87. Choose one word for the following 
expression. 'At sixes and sevens' 

(1) Confused (2) Under control 

(3) Foul or fair (4) To apologise 

Explanation: (1) Confused. 
► 'At sixes and sevens is used in the state of confused, 

disorganised, disorderly, lost in bewilderment. 

91.1!,"cfi~ ~~~~m~ -qm ~ 
~ 'Qr f-1yfcki ~ +4fatf&H1 ~ ~I ~ ~ 
• m ch1' !i4tP-1cha1 114 om -oo ~ ~ 
m' cb1 "4 tf~ch€il 1/3 i-1 ~ ~ ~ ~ ~ 
• m ch1' "41f~ch€il ~ i°? 
(1) l/12 (2) 5/12 

(3) 7112 (4) 1/24 

~ : (2) ~ efft ~ efft ~ 
1 

P(A) = -
4 

~cfi~";{Tffl efJl ~ 

= P(A) = (1-¼) = ¾ 
•. ~tfil~efft~ .... ___ .. __ ___ ______ ___ _____ __ ____ ___ ____ _ 

~'Qlfl2013 0 
88. Fill in the blank by choosing the most 

suitable word given below. 
Much that was _ _ in ancient Indian 
culture has already perished. 

(1) useless 

(3) religious 

(2) violent 

( 4) prevalent 

Explanation: (4) Prevalent 

► Prevalent is the appropriate word to be used in 
the given sentence. Prevalent means common at a 
particular time, in a particular place or among a 
particular group of people. 

89. "Tintern Abbey" is a poem composed by 
which poet? 

(1) William Butler Yeats 

(2) Edgar Allen Poe 

(3) Samuel Taylor Coleridge 

(4) William Wordsworth 

Explanation : (4) William Wordsworth 

► Lines written a Few Miles above Tintern Abbey is 
a poem by William Wordworth. 

90. Pick out the incorrectly spelt word. 

(1) Microscope 

(3) Mosaice 

(2) Opaque 

( 4) Monarchy 

Explanation : (3) Mosaice 

► The correct spelling is mosaic which is a piece of 
art that is made by placing together small coloured 
stones, piece of glass etc. 

- -- -- - -- -- -- - - -- -- - - - - -- - -- -- - - -- - - - - -- - - -- - -- -- -- - - - ---
1 

P(B) = -
3 

Bft cfi ~";{T mqfr ~ 

P( B ) = ( 1-½) = f 
3l~ ~ 

= P(A) x P (B) + P(.A) x P(B) 

1 2 3 1 2 3 5 
= -x - +- x -=-+-=-

4 3 4 3 12 12 12 

92 . ~ 'cha,:IT -q 75% ~ ~ 'q , 60% ~ 
11fora -q ~ ~ f afu' 20% ~ ~ 
~ -q ~ii-~ f ~ fc:1©1~41· q;r 

mm t-
(1) 55% (2) 65% (3) 67.5% (4) 68.2% 



G UPTET~ffl (6-s).rrfimr/ 
~-qQ<-2 

----.. ~ ~-:ar:i,=o:;:ft~77:.(~l):;==fl(llOO°o"o-~75)==25% 1/c 
~: (1) ~ r (100 - 60) == 4000 

Tffu@~ ~ (rz)== 
~ ~ ~ (r3) ::: 20% ) 

loo (r + r2 - r3 
~ ~ cfiT ~ ::: - 1 20) 

::: 100 - (25 + 40 -

::: 100 - 45 == 55% 
1 - 1 

2 2 z _ 6 afu" x- +Y 
93 _ -ma: x + y + z,,,= 4,x + ?' +~m~~t, 

+ z-1 = 1, ~ x, y, z it -if q,1:;, 

ot xyz cfilm-;rit 
(1) 1 (2) 2 (3) 4 

~= (4)~~. x + y+ z == 4 ... (i) 

x2 + y2 + zz == 6 

cf?.TT x- 1 + y-1 + z-1 = 1 

⇒ I.. +I..+ I.. = 1 

⇒ 

X y Z 

yz+zx +xy = 1 
xyz 

⇒ yz + zx + xy = xyz 

(4) 5 

.. . (ii) 

... (iii) 

~. (x + y + z)2 = x2 + y2 + z2 
+ 2(xy + yz + zx) 

⇒ ( 4)2 = 6 + 2 xyz 

16 - 6 = 2xyz 

⇒ 
10 xyz = - ⇒ xyz = 5 
2 

94. ~ loglO a+ loglO b = loglO (a+ b) "'ITT, oT a , 
bcfi ~ f.fi::.l ~-if~ t-

(1) a= b = 1 

(3) b = -1 a 
+ a 

(2) a= b = 3 

(4) a = _bb 
- 1 

~: (4) 

⇒ 

⇒ 

loglOa + loglOb = loglO (a+ b) 

log10ab = log10 (a+ b) 

ab= a+ b 

⇒ ab-a= b 

⇒ a~-~=b ⇒ a=_b_ 
b 1 

(1) 136° 

(3) 63° 
(2) 126° 

(4) 45° 

~ ::::t28000 

~ ~ ::::t4900 

4900 70 
o/. - _x 100 == 

~ 7 0 - 28000 4% 
600 X 70 

XO== 3 4 :::; 630 x lOO 

~ ~ ~ a&FtlcfiH ~ 
6 ~ ftlir it~ 311.a~<li -aim 11.2 ~~ 

9 . ~ -d ~ 21 ~ i1 ~ ~ ~ ~ 
~ ~i,&Tucf;T~t- ~ 
~ 0-~ (2) 306.2 ~ 
(1) 300 (4) 322.4 ~ 
(3) 312.5 -w=ft3 ~----:--::----

cfil ~ h= 2 1 "BlTT 
~: (2)~ olfTB d = ll.2 "Bm 

~cfil~ 11.2 
~ ~ r = 2 = 5.6 W:ft 

~ cJ,T ~ :::: 0.4 "Bm 

~ f%RTT (R) = 5.6 + 0.4 = 6 "WTT 
mg; cfi1 wmr,:r = rch (R

2 
- r

2
) 

= 22 x21 (62- 5.62
) 

7 

= 66 X 4.64 = 306.2 w/r1 

97. ~ x =223 + 1443
- 166

3 "ITT oT x~ ~ t­
(1) 7 ~ 12 zj-;n' "B" (2) 11 ~ 13 -ey;n "ij 

(3) 11 ~ 23 zj-;n' "B" (4) 12 ~ 83 -ey;n "ij 

o!ITT§m : (4) ~ i_ X = 223 + 1443 - 1663 

22 + 144 - 166 = 0 

a3 + b3 + c3 = 3abc 

a+b+c=O 

⇒ 223 + 1443 - 1663 = 3 (22) (144) (-166) 

⇒ X = 3 X 2 X 11 X 24 X 32 (-2 X 83) 
⇒ 

X = -26 X 33 X 11 X 83 
⇒ 

X = -24 X 32 X 11 X 83 X 12 

3TTY: x, 12 ~ 83 ~ "B fcl~ ti 
98. ~ X ~ 1$1 
~ ~ , z cfil m&r A "ITT om (x + y) z 

fiM(lf xy m, oT x2, y2 "om z21;f;l' ~ t, 
(1) A 2 1 ! 

(2) 9A2 (3) 3A2 (4) l 
~!(3)·.-

x + x, Y afu: z cfiT .:rrur = A 
· · ( y + z == 3A 
• X + Y)z cfiT ~ 

(x+y)z+x -~ xy "t 
-- -- --- xy + Y - 0 

------ --?z + zx == 0 
- - - -

.(i) 



2 2 2 
2 2 cf>T ll!v::J = X + y + z 

t,2, y <'IW z 3 

- (x + y + z)2 - 2(xy + yz + zx) 
- 3 
_ (3A)2- 2 x 0 9A2 

- - ---=-=3A2 

3 3 

g9. ~ ~ cfiT eITlT 58 t, ~ ~ cnr ~ 
-~~4:9'om~~~~ 

-cfiT~9:16i1~3-itt~~ 

$T 'llT1T t-
(1) 40 (2) 29 (3) 28 

~: (1) lTT1T ~~a, b cl~ c ti 
~. a:b= 4:9 

b: c = 9: 16 
a : b : c = 4 : 9 : 16 

llflT a, b o~ c sfi'lffi: 4x, 9x 3fu 16x i 1 
"SITT B a + b + c = 58 

4x + 9x + 16x = 58 
⇒ 29x = 58 

58 
⇒ x = -

29 
⇒ x = 2 

~ 'B@TT = 4x = 4 X 2 = 8 

'illB'U 'B@TT = 16x = 16 X 2 = 32 

3l~ 7::fTlT = 32 + 8 = 40 

lOO. 8.9x8.9x8.9-3.7 x3.7 x3.7 ~ t -
8.9 X 8.9 + 8.9 X 3.7 + 3.7 X 3.7 

(1) 1 (2) 5.2 

(3) 12.6 (4) 8.9 X 3. 7 

~: (
2

) 8.9 x 8.9 x 8 .9 - 3.7 x 3.7 x 3.7 
8.9 X 8.9 + 8 .9 X 3.7 + 3.7 X3.7 

= 
(8. 9)3 

- (3. 7)3 

(8.9)2 + 8.9 X 3. 7 + (3. 7)2 

(4) 50 

= (8.9 - 3.7)[(8.9)2 +(3.7)2 +(8.9 x 3.7)] 

(8.9)2 +8.9 x 3.7 +(3.7)2 

= 8.9 - 3. 7 = 5.2 

101, ~ XI/a = yllb = Zl/c it, "ffi a + b + c cfiT -i:rA' 

~. '111' rcfi xyz= 1-q;r ~ enr-
(1) -1 (2) 0 (3) 1 (4) 2 

~: (2) lffiT 
1 1 .!. 

x~ = YT, = z c = k 

~ = k ⇒ x = ka 
x a ' 

-- -- c:r-n ~ log WTA 1R 
--- -------------- --- ------ ------- -------- ---- -- --- --

~ 'Q1R2013 0 

- - -- - - -- --- - - --- - - --- ------ - - - - - - - -- - - - ----- - - - - - - - - - - - -
⇒ 

⇒ 

⇒ 

logx = alog k 

logx = log ka 

a= loghx 

b = log1,Y 

c = log1.,z 
a + b + c = logizX + log1,Y + log1.,z 
a + b + c = logh(xyz) 

⇒ a + b + c = log(l) ( ·: xyz = 1) 
logk 

⇒ 
0 a + b + c= - ­

logk 
(·:log 1 = O) 

⇒ a+b+c= 0 

102. 2 + 22 + 222 + 2222 + ......... cfiT n W ('l'cfi 

mTT i-
(1) ¾{

1
i(10"- 1) - n} (2) ¾{

1
i(10" -l)+n} 

(3) ¾{
1
i(10"- 1) - n

2
}(4) ¾{

1
i (10" +1)+n

2
} 

o!ITTsm : (1) 2 + 22 + 222 + .... . n -qzj' ocfi 

= 2 [ 1 + 11 + 111 + .. ... n -qzj' ocfi] 

= ¾ [9 + 99 + 999 + ..... n -qzj' ocfi] 

2 
= 

9 
[(10 - 1) + (100 - 1) + (1000 - 1) .. . n -qzj ocfi] 

= ¾ [101 + 102 + 103 + ..... n -qzj' ocfi 

- (1 + 1 + 1 + ..... n -qzj' ocfi] 

2 
= 9 [10 (1 + 10 + 102 

...... n -qzj' ocfi)-n] 

= ~ [10. (10" - 1) n] 
9 10 - 1 

= ¾[li(10" - 1)-n1 

103. ~234 cnl ~ &.1fett1lt1· A, B 3-ffi' c-q .!:_ : .!:_: .!:_ ~ 
2 3 4 

~-q ~~?.TT,~~~ 2: 3: 4 

~~-q~~, fcfiftchl ~ 3mrcfialtt 
~ffl'qt3TI'? 

(1) A, ~52 

(3) A, ~ 56 

(2) B, ~35 

(4) C, ~50 

~: (4) ~'Urn= ~234 

A·B·C=.!:_ . .!_ . .!:_ = 6:4:3 . . 2. 3. 4 
- - ------ ---- - ----------------- --------- -- ----- - ---------



~-qQ<-2 
G UPTET"cli<ttl (6-s) '3lfimr/ ----

- - ----

---------------2 ;-3 -: _ 4 _i(-~ tr{ · 

~. 234 X2 := t 52 
AcITT fi:rfll~== ~ 

234 x 3 == t78 
B cITT fi:rflT ~ == ~ 

234 x 4 -no4 
ccn1fiw!T~==~-

"Tl'= 6 : 4 :3 -tj' ~ tr{ , 

234 x 6 _ "1'108 
A cITT fiIBT ~ == l3 - ' 

234x4 -"1'72 
B cITT fiIBT ~ == - - ' 

13 

C aj fi:R;rr ~ = 234 x 3 == ~54 
13 

c aj fi:R;rr ~ = 104 - 54 == ~50 

a:rn: c cn1 <50 q;i 'ffi~ ~:m, -it d~ ti 

104. mo 3rcfilcl,1'~cftl ~t-
(1) 9999999 (2) 9999768 

(3) 9998244 (4) 9998222 

~ : (3) ~ ~ cfi1 ~ ~ ~ = 9999999 

~- 3 

3 9999999 

61 99 

1 61 

626 3899 

6 3756 

6322 14399 
3l~ ~ = 9999999 - 1755 2 12644 

= 9998244 
1755 

105. ~ "fu:m t rcFi ~ w:ilt;~i~ MBC it ~ AB 
~AC~t1~~~~WEF 
~ ~ tr crra: LBFD = a, LADE= b ~ 
LCEF=c, m-

A 

B C 

(1) b+c 
(2) b=~ a=-

2 2 

(3) a+b 
(4) c = 2 (a+ b) c=-

2 

( 
7f ) = 21r - b . ar~ p - b+3 3 

. (1) . . b 
~- .. , A 

'L------ c 
B 

L cFE = " - ( a + f) = 
2

; - a 

LFBD = LECF = 8 

m,r LFDB + LBFD + LFBD = n 
.. 

21f b + a + 0 = re 
⇒ -- 21r 

3 0= rc+b -a-3 
⇒ 

⇒ 
8= !!_+b-a 

3 

:fl: L FEC + LCFE + LECF = re 

⇒ c + 2
7f - a + 0 = TT 

3 21r 
0= rc+ a-c- -

⇒ 3 

⇒ 0= !!_ + a-c 
3 

~ (i) cf (ii) "B ' 

⇒ 

⇒ 

!!__ +b-a= !!_ + a-c 
3 3 

b-a= a-c 
2a = b + c ⇒ 

b +c 
a= - -

2 

.. . (i) 

... (ii) 



1 
~ :l+ x• 

107, 

= 47 &T , 'ffi' X
8 +-;- cnT lWf t -

x 

(1) 9 
(3) 18 

(2) 15 

(4) 27 

~ : (3)~ t, 
4 1 

X +- = 47 
x •I .. . (i) 

~ . [x2 
+ :2 r 

[x2 
+ :2 r = 4 7 + 2 = 49 ( '8•-fi cfi {Oi (i) °B) 

⇒ 

⇒ 

x 2 + _!,_ = 7 x2 

[ X +;f = ( X
2 
+ : 2 r +2 

.... (ii) 

(x + ;r =7+2=9 (@lc.fi{OI (ii) 'B) 

x +.!.. = 3 
X 

x
3 + : 3 = ( x +;) ( x 2 + :2 -1) 

= 3 ( 7 - 1) = 3 X 6 = 18 

108. 100 3fR 200 ~ affi;f 31A' cfWTT T-i ~ cfiT 

mll ~9~~ it. wrr-
(1) 1665 
(3) 1683 

(2) 1674 
(4) 1692 

~ : (3) 100 ~ 200 ~ Tf'af 31A ~ 9 B TT:{~ 

~ "B&IT = 11 
~P.m fq~ ~ = 108 
~fq~~ = 198 

-qaj' "cfi1 "B&TT (>f~ ~ + ~ ~ ) 
3l~ ?:!TTT 

2 

_ 11(108 + 198) 11 X 306 
2 2 

= 11 X 153 = 1683 

109. ~ x = 2 + ✓2 m, "fil 

(1) 1 

x 2 + _!_ cfiT .rA i­x2 
(2) 4 

(4) 16 (3) 12 

~ ; (3) X = 2 + ✓2 · .. (i) 
4 

x 2 + :2 = (2 + ✓2 )2 + (2 + ✓2 )2 

4 
= 4+ 2 + 4 ✓2 + 4 +2+4✓2 

_ (6+ 4✓2 )2 +4 
- 6+4✓2 

~m 2013G 

36+32+48✓2 +4 =---~~-
6 + 4✓2 

72 + 48✓2 12(6 + 4✓2) 
= 6 + 4✓2 = 6+4✓2 

= 12 

110. 21a 3 
- 17 a 2

, 89a3 
- 64a 2 + 6a + 16 ~ ~ 

cfi1t i? 
(1) 68a 3 

- 47a 2 + 6a + 16 

(2) 68a3 
- 47a 2 

- 6a + 16 

(3) 68a 3 + 47a2 
- 6a + 16 

(4) 68a3 
- 47a 2 + 6a - 16 

~= (1) fuJ: -mi: ~ "cfi'T 3TIR, 

= 89a 3 
- 64a2 + 6a + 16 - (21a3 

- 17a2
) 

= 89a 3 
- 64a2 + 6a + 16 - 2 la3 + 1 7 a 2 

= 68a3 - 47a 2 +6a+ 16 

111. ~ Wf cfiT <TT 'q1'.f cfiT ~ ~ ~500 i m:rT 

~mwrcfiT~m~~ ~m~ ~ 
i-ltfiic¾f.J: ~ ~520 i1 ~ ~ ~ i-
(1) 5% (2) 8% (3) 10% (4) 12% 

~: (2) 'BT'!:ffiUI ~ (SI) = ~500 
~ ~ (CI) = ~520 

~ q1TI ~ ~ . CI = SI (1 + - r-) 
200 

⇒ 

⇒ 

⇒ 

⇒ 

⇒ 

200 + r _ CI 
200 SI 

200 + r _ 520 

200 500 

1000 + 5r = 1040 

5r = 40 
40 

r= - ⇒ r= 8% 
5 

112. <ITc{.n~mrt ~* 1:4 cfiT ~m 3-TTt 
-m "&J1'm * 4 = 5 cfiT ~ m. m ~ dii-11$<-i'i 
*~i-
(1) 2 : 5 (2) 5 : 4 (3) 15: 16 (4) 25 : 64 

⇒ .!__ = (4)2xh.. ⇒ .!__ = 16 x h.. 
4 (5)2 

X h2 4 25 X h2 

⇒ 
25 h.. 
64 = h

2 
⇒ h1 : h2 = 25 : 64 

, 



G UPTET'$ffl (6-8) ~/fiurrc;r 'Q"Q"l'-2 

1 13. }0lft-~ .-
~1? ' 6 ~, ~ ~ 22.6 wft' mil' ~ 
~ 1'zr ~ ~,&~4&@ M ~~fr 

~ ~ 25 mft- X 12 w:fl X 9 ~ ~? 
(1) 4500 . 
(3) 5000 (2) 4800 

(4) 5500 

~ : <3> ~ ~ ~ == 10 -rfi= 1000 wft 
~ ~ ~ == 6 l:ft == 600 wn 
~ ~ ~ == 22.5 wit 

~q;r~==~x~x~ 

'k == 1000 x 600 x 22.5 <R wit 
~ I '~ ~ == 25 x 12 x 9 cr-, wft 
"llqf'( ar==rR l:f B7TT ~ -~ ~ 

=: 1000 X 600 X 22. 5 
25 X 12 x 9 

=: 40 X 50 X 2. 5 = 5000 
11 4

. ftr:J- ABCD ll, AB == B C om LBAD am LBCD 
fiqi:f,) or t, AD 3ITT" CD -q ~ ~ ~I 

C 

" 

B < 
D 

v 
A 

( I ) AD< CD 
(3) AD = CD 

oQl@I: (3) ~ t . AB= B C 
L E AD = L B CD == 90 ° 

oI AD = CD 

(2) AD > CD 
(4) AD = 2CD 

D 

115. ~l'TI'RcnT<Si!:ITT150✓3 ~t,~aro-WJR' 
q'J'R ~ ~ cR ciiT ~ ~ t-

(1) 12000 ~ 2 (2) 15000 WTT2 

(3) 16000 ~ 2 (4) 25000 WTT2 

oQl@I : (2) 71@ q;-r 'ixlrn = 50✓3 WTT = tR 

cf;'T muf 
~ q;-r fuq;uf = 50✓3 

J3 X ~ = 50✓3 

⇒ 
'lPIT = 50✓3 3 
~ J3 

⇒ 'iPIT = 50~ 
~ cf;1 ~ ~ = 6a2 = 6 X (50)2 

= 6 X 2500 

= 15000 cf1f -wTT 

~ - (3) llRT wrcnrur &:rr it . x == b, y ::: p 
=•-<,M •• ~ ,z::: h . 

x. ~ y 'ff~ cf>Uf Z ci I 
2 

~l~ 
- z 2 

~ !,Pi11jflR, X X Y - 2 ⇒ 2 ::: 2xy 

3loi ~ 2lT71Tffi ~ ~. 
x 2 + y 2 = z 2 ⇒ x2 + Y2 -2 

? xy ::: 0 
(x - yt = 0 ⇒ X == y 

¥ ~ 3ffi 3TT~ ~ % 'ill ~ 45° ' ~, 
117. lOO'Q'~ cfiT ~ m&rso ~ ~ 
~ ~ m <ffil3TT <it 3 attt 92 ~ ~ ~ 
303fir29~'7TURT~cn-~ m. m ~ 
~ 1lT&I' t - ~ 

(1) 50.20 

(3) 51.1 5 

(2) 50.36 

(4) 51.45 

~= (2) 100 9a.,uTT cfi1 "B11RR .:n~ == 50 

100 9a.,uTT cfi1 <WT == 50 X 100 == 5000 
3 q;- 'B'-1'R -q{ = 30 

~ = 30- 3 == 27 
9 2 q;- 'B'-1'R -q{ = 2 9 

~ == 92 - 29 == 63 

~~ .:n~ = 6000 + 63 - 27 
100 

_ 5000 + 36 _ 5036 

100 100 

= 50.36 

118. ~ 1, 4, 5, 7, 8, 10, 12, 13, 15, 17 ~ . 

ciiT lJR(1; rc'lilM-i 4.85 i1 ~ ~ ~ -q 10 

~ ~ ~, rf1' ~ fl1j,i;qi£l cfiT ~ ~ 
wrr-

(1) 48.50 

(3) 0.485 
(2) 4.85 

(4) ~ ~ cfi1{ ,ITT 

~: (2) B'&rr;m 1, 4 , 5 , 7, 8 , 10 , 12 . 13. 15 , I1 
qi'fllRcfi~=4.85 

~~B'&rr# 10 ~\lf@ltm m ~~ 
• ~ 111 

'qi'f 1lRcfi ~ 4.85 "ITT "ITT1TTI w:rA msm '11I.!:? ~ 

1lRcfi ~ ,ITT° ~, 

(2) 50 

(4) 70 



~~2013 @ 

~ : (4) 
I 

~"Gl'!-.il' =40 

"tffi'l:1.fqi'J = 50 

~=? 

122. i:m:rcti ~ 'W-ITT@T-

~ = 3 X "tfTI&fcfil - 2 X "Gl'!-.il' 
= 3 X 50 - 2 X 40 
= 150 - 80 
= 70 

~ ----------__ _J 

120. ~ -q ~ ~ ~ ~ ~ t? 
(1) ✓2-wn~<fi'T~~ 

I (2) 2 wn ~ cfi1 ~ ql1 

(3) 2 wn ~ cfi1 ~ ~ ~~ 
(4) 3, 4 afu 5 M "F\l3Ti <fi1 ~ ~~ 

---------------
~ : (1) (1) ~ cfi1 ~ (r) = ✓2 

~ cfi1 ~ = 1tr2 

22 1n. 44 , 
= 7 x (v2)2 =7 ql1 "BlTI ⇒ 6.3 -w:f\2 

(2) qT\ cn1 "Fil = 2 M 
qT\ cfi1 ~ = ~ 2 

= (2)2 = 4 qil "BlTI 
(3) ~ ~~ cn1 ~ = 2 M 

~ ~~ cfi1 ~ = ~ ( 'l_PIT )2 

= ✓3 x (2)2 = ✓3 cfl1 w:n 
4 

(4) ~ ~~ cn1 ~ 9.i~: 3, 4 , 5 i1 
-i:rRT a = 3, b = 4, c = 5 

⇒ 

a + b+c 
s= --

2 

_ 3 + 4 +5 - 6 s - -- s -
2 

~ = J s(s - a)(s - b)(s-c) 

= ✓6(6 - 3)(6 - 4)(6 - 5) 

= J6 x 3 x 2 x l =.f36 

= 6w:TT2 

~: ~ i fcfi' ~ cfi1 ~ ~ 3TI~ %1 

12 "' 
1 

1. ~--m.ft fctc1f~H t-
i (1) ~-B (2) fc@ftR-E 

(3) ~-A (4) fmlf,-K 

\ 

( l) ~ cf,7 mB cfi{ ~ -% 

(2) ~ cfi1 c!;ij ~ cfi""{ ~ t' 
(3) ~ ~ ~ -q' ~ ~ t' 
(4) •n4111.rni ~ w ~ t 

'o!:ITT:?m: (4) ~ ~ ~ 3TtR ful:m cn1 ,nq1"11.rni 

~Wtfcficll°%I 

► imm ~~qil~~mcn i~ sf>Ili:@l 
m '4\ ~ %m tjt ~ fuW! -q= m cfi{ ~ -%1 

123. ~ om ~a.ft ,:fim t -
(1) w ii'n.1.1, (2) mf.r:n 
(3) ~ ( 4) ~ ~ c!il{ m 

'o!:ITT:?m: (1) ~ .fr~ ~ cliR<qa.TT ~ t ~ ~ ,qa_n 1ltm 
zj t , 
► 'ii1c15,c!lf{1.11 cliR'qa.n .frm cfi1 ~ ~ i1 ~ ~ m 

%1 -i!@T i1 
► 'i?lc15,C.'111.1.11 ~ 1:JR1 3iTT lfu;ft iiltil 11' ~ ~ i , 
► ~ 3iTT ~ m ~ cliR-qzjt 1llm i , ~ ~ 
~~ i i 

124. ~ cfi ~ ~ ~ f ~-
(1) ~ ~ 2'1't.TITI i 3iTT ~ w - ~lt't;,,ct,a, -;;m: i, 
(2) ~ f!t,.(-iltl "l~I ~~ ~ i1 
(3) ~ 1 @"1icfi{Oj q,l ~ 3TI~ ii 
(4) ~ ~ -,q(-11~!11 i 3lTT ~ c'I~ qq~ 

cfill %1 

'&IT&IT: (3) ~ ~ ~ ~ t , ~ ~ cfi11JU1 ~ 
3TI~ 1WTI -i!@T i I 
► ~ cfi 1JUT cfi cfiRUT 'ITT~ cfi 'flqlf~ ~ ti 
► ~ 11' 5 C11"© it '4't ~ ~ cn1 ~ i , 

125. f-1"'1fMforn it 'it cfiR-m i'{~chlll ~ cnT mw.n 
~t? 
(1) ~ 2 (2) TITTl 

(3) ~ (4) ~ 

'&trem: (3) ~ ~ cn1 ~ C.G.S. 'lf.&fu 11' -.fro i 
c'lin s .I. 'lf.&@ -q' ~ 
► l TITTl = l 0- 4 ~ 
► ~~qi1cITT@Tcl,1~~21:11~ 

men %1 
► ~. ~ ~ c8 ~ %1 

126. ~ ol'l 'Qr~~~~~-
(1) H 2 itB 11' (2) N 2 itB -q= 

(3) 0 2 itB 11 ( 4) ~ ~ tjt ilm 11 ~ 

~: (1) Rll. l"T1J, ~ -q H2 itB 11' ~ c8 "1IB 

wro 3TI~ miff . ~ 3Fl c8 ~a.:rr ~ tA'cq ~ 
cfillil 
► H2 -q ~ c8 "'c1IB 1269 mm. %1 

I 

I 

~ 



GD UPTETcf>cffl (6-8) a-rfimrl~ "QtR"- 2 

127. ~t- . 
(1) ~ ~ cfm ~ ct ~ Wg3TI ~ @:!UT 

(2) ~ ~ ~ . @:!UT 
(3) ~ ~ cfm ~ ~ ~0=1,c'l l$1 Wg3TI ~ 
(4) ~ ~ cfm ~ cF ~ Wg3TI ~ @:!UT 

'oi!ITTg!IT; (4) ~. crm ~ cF ;,-Jc'Jfq{-i lj ~ t, 
► ~ ~ ~ cfm ~ cF ~ Wg3TI ~ @:!UT 

tITTt ?, 

12s. in-;ft- cfiT ~ H'-1fMf@ a # if ~ cfiWTT 
mm t? 
(1) Na+~ K+ ct ¾7:i:1$-(fl ~ ~ ~ cf>RUT 
(2) Ca 2+ ~ Mg2+ cF ¾i<.1$-(fl ~ ~ ct cfiROT 

(3) Al3
+ cfi 11$?1$2..,_fl ~ ~ <fi cfiRUT 

(4) N a+ ~ K + cfi cfil<iIT~(fl <fi cfiRUT 

~= (2) -qr,:ft 'cfi'T 'iTTU<R Ca2+ ~ Mg2
+ ~ ~ 3ffi 

~cfi" "cfiTTlJT mtt, 
► -qr,:ft 'tj' ~ ~ "cfiT ~ cfi1 cfiRUT ~ ~ i 
~ fcn" -s) ciii-11$2. , ~•~fll$2. , ~ ~I 

129. 3-l1J13TT om q~q101::m # $M&;;,'f-t ct IDTI -m;;:r 
~cfi1 ,Q ~ cfiT cfiTT1lT t­

(1) ~'qsfiUTlTfu 
(2) ~ cf,zjrlr 1Tfu 
(3) 1 ~ 2 
c 4) ";J" m 'qsfi1JT 1Tfu arf"{ ";J" m cf,~ 1lfu 

I &m9!IT: ( 3) ~a:n' arf"{ ~an 'tj' ~ 1lfu 3ffi cf)~ I 
_ 1Tfu cfi" cfiTT1l1 ~ cfi" ~ ~ ~ ~ mm t, . 
130. ~ ~ ~ ~ ~ # A 3fu- B 

Q_Oe1'1i'1 t, m ~ ~ # ~-m Q_Oel~lslZit 
~? 
(1) q:02.l~Tsl-A 
(3) "c:fi,t Q_Oc.l~Tsl ;,m' 

(2) q_u[1cs1T:.sl -B 
(4) 1 ~ 2 

~= (3) "Q_cfl" ~ cfi" ('[@ B~3ll' ~ A ~ B 
~ %, m ~ ~ 'tj' ~ q_o2lcs1T:sl\lJ ~ "ITT1ITI 

► ~ m O cfi" -q-m q_0 2lcs1T:.sl A ~ B ey;rr mm, 
► ~ m A cfi" -q-m q_ 02l~T:sl B m ~ ~ m B 

cfi" i:m:i- q:02.l~T:sl A m1 
131. Rl"1fMfoM -q ~ ~ ~ ~? 

(1) lgH2 (2) lgN2 
(3) lgCH4 (4) lgC0

2 

~: (l)~~t, ~3TI~~= ~ciil . 
X (6. 022 X 1023) m§1TT 

l gH 2 'tj' ~3TI "cfiT ~ = .!_ X 6.022 x 1023 

lgN2 ~ ~3TI "cfiT ~ = 5.035 x 6 022 2 
.;. ~-:+ . . X 10 3 

lgCH4 "1 ~..:>11 "cfiT "ft'"&rT = 0.02 X 6 022 
.;. ~-:+ . X 1023 

lgC02 "1 ~..:>ii "cfiT ~ = 0.0625 X 6 0 
3IB· 1 H 11' .:am -,4. . • 22 X 1023 

· g 2 ~•0 "I'll~ aj'~ mrft1 

~ 0_05 aTTi:T om 0.25 ~ 

132-~ ~· ~ ~ i=, ~ ~ ~ t" 
~ (2) 180 ~ 'i l'lti \ 

(1) 1·
80 ~ (4) 13.5 ~ 

(3) 1.35 
Tl11:~'1:l~'1R . 

~ : (1) ~ R1 = 1.5 31l1=f 
R 2 = 0 .05 31l1=f 
R3 = 0.25 31l1=f 

~ ~ mcro'l:l. 
!;fUTT ~ R = R1 + R2 + R 

3 = 1.5 + 0. 05 + o 2 
R = 1.80 31l1=f . 5 

133. ~ if ~-m cJmrq -q ~ ~ %? 
(1) ~ lWffi (2) nm ~ 
(3) foITTIT lWffi (4) ~ ~ 

-a:m§ITT: (2) ~ lWffi cliW 1:fi;, (Pisces) ,m %, 
► ~ l'.!OOT , ~ ~ (Cat Fish). 'rnll . 

(Dog Fish) i:fR (Pisces) i i " ~ 
► ~ ~ (~ ~ ) "Q_cfi -rnzr . "9'@ ~ ~ !, 

'f> lc Qj 

134. cfi('\ii1$-f ft.ITT:r ~ cfiT ~ %? 
(1) ~,.ftf.M.:J (2) ~ 

(3) ~ (4) ~ 

o!ITT§!IT: (3) ~ (vl .:Jl $1 m ~ cnT ~ t1 
► ~ (~ ) ~ {!Blllf1cf> mcf i, '3ft ~ ~ lllil 

cfi1 ~ ~ -t, 
► ~ ~ CTJ:3_~ t -

(i) m ~ (ii) ~ci.:Jl$1 

(iii) ~ 

135. ~ ~ mor t? 
(1) 41ffii.fllf1lll (2) ~ 

(3) ~qf~l'-11 (4) Qf9{• 1ft 

~= (4) Qfl.lbm ~ "9t'l:l i.t -qun~ mm t1 
► WIT ~ ~ "B tt -qurt~ ~ i1 . 
► ~ (mircm) ~ cillUP-lF81 1Ff i:ttm it ~ l 
► ~ ~ cfi"T ~~ct~ 1-1 fcl;m ~ !1 

136. ~-m ~ wftt cri ~ ~it~~ 
t~vrm-~ft:mr.::r ~cfiT~ t? 
<1) ~~ c2) m~ 

(3) ~ ~ (4) 1!:TT~ ~ i 
~: (l) ~ ~ mR ct fc;rf'l'.Pl 3lrJl a,~ 

~4-.i~t, 
► ~ ~3TT cfi1 . ~ t i 
► ~ "B'&TT cfi"B Q l<:11 i i 

~mR~M~'l-JTTTcfiT~ 



l 

~it~ ~ -m ~ f ? 
131• ~ (2) ~ cfiT ~ 

(1) (4) ~ 
(3) tt.t --------:-----:----:------­

. (4) ~ ~ ~ ~ % cl~ ~ {lfl ll..{f,cfi 

~- 6b12o6 ti 
~c~ cf,1 ffllcfil3l1 rt~~ cfiT ~ m %1 

'I~~~ 1Rt2TI -q ~ ~ %, ~- ~ 
'I ~ . ~ · ~ 3Tif<:;1 

~~ ~ t -
138, ~·" . 

(1) 0° (2) 0° F 

(3) -273°C (4) -273K 

~(3) ~ ~ crrq -273°C %1 

39, ~ t(l-4ii4lf{"!U+tl ~ f-iiflchl ~ ~ 
l a?tfiiicfil~ ~-~ cfi fcfi-illl' ~ ~ ¥. i@T 

t m:rr im:r-im:r ~ WJ: ~ ~ m, i:m:fT 

7iITTIT t-
(1) ~ cfiT <i:furo' ~ 
(2) ~cm~mw; 
(3) fl cm tjnro ~ 

( 4) ~ e1FJ1.1 -i ~ cfiT <i:furo' '!WT 

~: (1) v:fq~ ~ 3l1Ti' cfi1 ~ ~ 11«1 cl~ 

~ arrT cm tjnro ~ cfiT f.RTUT cf,{fil %1 

► ~ ~ -q -6ia<cfi'if~ich"II..{ -~ '-i"ITT ~ t1 

► 1!,ql ,rj'q~ ~ ~ ~ ~ cfi'if~lcfil~ 

'1!,q;-¢ c; ~ ~ ~ -1{i mm '% '1RT 'Gm- 'Gm w: 
~~t9'1lm1 

140. ~-« ~-m ~ "&ft ~ rcrtu ~ t? 
(1) ~ ~ w~ 
(2) ~ fc:n~ 
(3) f.rnwR 
(4) ~1!~M~ 

~: (3) ~ cn1 ~ >lcfiR cfi1 M~ ~ %-
(i) ~ 1!~ M~ (ii) -q:.;, C &WT ) ~ fcn~ 

(iii) ~ 1!~ M~ (iv) {ifMf,cfi M~ 
► ~cf,1~-q~crrqcfcfil'Wfcfi"{'-ll~ 
~%1 

141. ~ tfi ~ -qr "fcnm fqu-g cfiT mr t­
(1) ~ 

(2) 3v'Rl 

(3) ~ 1R ~ ~ ~ ~ 
(4) ~ ffiT -q-{ ~· ~ ~ ~ 

~cits qtR 2013 C 
142 _ ~ ~ ~ f-iiflchl ~ ~ o.5 i:ft 3itt ~ 
~ ~ f-iiflchl ~ ~ 1 i:ft t , ct>) ~ 
sil@T t, qfto11i:.1 ~ "&ft ~ mm-1 
(1) 1 ~ (2) - 1 ~ 
(3) 0 .5 ~ (4) -0 .5 ~ 

oQTe!TT: (1)~ <sT ~ cfi1 ~ RlTT ~ t m ~ -&B 
cm !'JllcTT cJ-iT ~ 'cf,1 !'JllcfT3l1 rt <WT rt ~ mm i 1 

3'.f~ Pr = P 1 + P2 
► ~ 'ffi1 cm !'JllcTT ~ q ~ -&B 'cf,1 ~ 

::fi011c'4cfi mm %1 

► fc:;q_~'tlR . 

~ 'ffi1 cfi1 ~ ~ . / 1 = +0.5 lTT. 
3Wcwl 'ffi1 cfi1 ~ ~ . /2 = -1 lTT. 

~~i. 
1 

P=f 

p =2._ =J:_ =2~ 1 f1 0. 5 

1 1 
P2 = -=- = - l~ 

f2 -1 

Pr=P1 + P2 

= 2 + (-1) = 2 - 1 

Pr=l~ 

143. ~ ~ -iTT ch'l~lcfii3TT ~ m ~ 
ch'l&icfii3TT -q tr~ "ITT~ t, cfit;<"1icll t-
(1) ~ ~ (2) ~ ~ 
(3) ~ ~ (4) f,qifocfil ~ 

oQTe!TT: (2) ~m ~ "'1 ~311' ~ ~ ~ 
~311-q 'ITT WlT1-0 m ~ %, ~ ~ cfit;~lcti %1 
► ~ ~ , {IBll..{f,cfi ?:TT ffiRcfi' Slfof<;f.l..{I~ rt cfiRUl 

~m cfiT ~ '!WT cfi1fucfil3:n' cfi1 '1Cfffi ~ ~ ~ 
~ ~ t. ~ ~ ~3'.fl ~ ~ cfit\~lctl ~I 

► ~ -q Cfil~f~•i°'l'3l-i cfi1 'llRT 'cfili m'ill t , m tjt ~ 
~ cfi1 ~ ~ f.ffuq ffi %1 

144. i\1$4\-ii-i 'cfiT ~-m f4qfi4jf-icfi 'mU ~ t? 
(1) :H (2) ~H 

(3) 3H (4) IH ~ 3H 
I I J 

~= (2) t\1~,&hH cfiT ~H ~ -qm ~ -%1 
► t,$-&','1\-i rt "ffi1 ~ m t-

(i) ~ : H 

(iii) ?l~fc'.qq ~H 

~= <1) 1!~ rt ~ -q-{ ~ fq-us cfiT ~ ~ mm % 
11?.ll ~ 1R 3'.ff~ mm %1 

► ~q_lft:qq cfi1 -qm t,~,&'1'1\-1 cfi't;1' ~ %1 ~ 1Wt1UJ 
~ 1 cl~ ~ ~ 2 mill %1 



e UPTET cl'iffl ( 6 - 8) cJJfvrcr /~ Ql:R'-2 

145. ~ ~ ~ Tf ~ffidfrf 3:fcf:, 16 cfiT lTR t r 
( l) 1000 (2) 10000 

(3) 1010 (4) 11000 

2 16 0 
2 8 0 
2 4 0 
2 2 0 

1 

(16)10 == (10000)!,! 

Key Points- . 

146 . ~ ~ f-itffcfft-~ ch)~rcfirt( ~ ~ ~ 
~ ~ :wif ef1- ~,f.;;icf," ~ q;)-~ t 3flT 
-f""ffch1 ch)~1cfir Nfum it~ i:n: ~(jfilfil 3flT 
f'Mfi➔ :.r ~ ~ ~ ~, ~ ~ t-

(1) ~ (2) Wen 

► an~ (attitude) fcfim "ol!"fc@ , ~ '1T ¾T cii ~ ~ 
fcrffiWT~~cfiBcfTT~~ ~ 
(mentalreadiness) "tr 
~ ~ q;n~;iJIRcfi -it9 ~ ~ ~ ' "1 ~ 

► 3TT'Cf> ~• (The conditions of Learning) -q· ~ lt 
3lTo "5lcfiTTT cfiT qUR fcf;?:rr % I 

: 1ITU ~ 3TTW!ll * ~ -tj' ~ ~ ; 
(3) ~ ~ ( 4) -qfu..-q 

~= (3) ~ ~ ~ q;)~1q;,tt ~ ~ 
q)'B air))' cf} ~ ~ q;t oR@T i 3ffi ~ ~ 
f'lffif1:TT -tj' cfiT,T 1TT ~t;-jffiffi a:jh fufT;,;:r ~ ~ ~ t , 

► ~ ~ q;t q;)~jq,/tt ~~q,1c@ , ~ zrr 3lUm 

11r ~ . '5ftfcra o~ m~ "ITTill t, 
► w tjr~ cf}~ 'lWIT 1TT cfT<TT ';if@T t, 

147. -<!qfhti ~ ( cJft-) ~ t, 
(1) ~ -tj' (2) m.lft.'i_ -tj' 

(3) ~ ~ -tj' ( 4) cn't-mt -tj' 

148. W-i(<{fH ih:r ~ ~ ~ t 
(1) CO + H 2 (2) CO2 + H2 

(3) CO+ N 2 (4) CO2 + N2 

oc.il@.11 :(3) J,1)-('-i_fH "im ~ ~ ~ ~ 1-fl-ilcffil~s 

(CO) afu ➔1~,:);,1 ➔ (N2) t, 
► w -rm~~ mmtt ~ f.:ffeIB mm t, 
► !,1)-('-i_m -rm q?T ~ t?:R ~ ~ -4" fcf;7;rr ~ t, 
► ~ ~ d'd l4~1'<l dC1 W 'i1fl1 3ffi ~ ~ fi:rJJ.TUT ~ ~ 
~ !,/1-('-i_m ( dc<ll<;ch) im ~ t I 

149. ~lftl4H cf1" ffi rcflff 'i:JT7T -q= ttw@ f~ 
(1) ciil~4'ic1 f<qfu (2) a:Rf:1:fiB 

(3) -i:r~ f<qfu (4) aj\Jjq,cjtj 

► ~~sfil'.f~*~tjtV<m * ~1i11f m~ ~; 
► ~ * ~ ~ ~ (General intel!igece 

factor or g-factor) "cfi1 "1 f'lFf , "9"9 ~-4.IB ~-~ 
-q' ~ m ~ ~ * zj i::ffsB ~ -
1_ ~ ~ (Fluid inte lligence or gf) 112.TT 

2. om- ~ (Crystallised intelligence or gc) ~ gc-gf 

~ tjt "cfi6I ~ %, 
" --.-::.~ -n-4":.,..,,..._~ ► ~ ~ ~ ~ -g1 Gl--lctcilct/i:J H-lo&hicfill: ~ 

ir@T, lTT'fq ~ * 3ITT Yi:,ljsfiG * ~ 3ffi 3,rtq
1 

3lf~ (Self actualization) 1TT 3ITT ~ ~ ~
1 ~"1ra %1 

► ~ * ~ * ~4:R- i;m,-fu;?;[T ~ cfi1 ·~ 81 
~-4-.R' (Type S conditioning) 'lTI cfi""ITT ~ !1 
3lf't./1l77 ~ ~ YcnR: * m l -
1. t1@ t&t<:! c!sfi" (Straight line curve) 
2 . ~ c!sfi" (Convex curve) 

3. ~ c!sfi" (Concave curve) 

4. fi:rfmr c!sfi" (Combination type cu rve) 

► ~ -lffi!cliT (Group Dyn amics) "ct ~ cfiT ~ I 
00~ cfii BfcR (Kurt Lewin) -;) 1945 -tj' ~I I 

► fcrcrfiR-E cli1 q;,:ft ~ ~ ~ "ITT "Zi!IBT t ~ WI 
it ~ ~ lffiUT "ITT ~ t I I 

► fcrcrfiR-E cfiT "{/fil<lf+:fi ,m 21c:filit<Tci i1 
' <li1 ► ~kfcfil'-l" V<:m" (Magnetic flux) ~ -~-14.-.-:q;l+,-,i:r a;r,r 

~ t ~ %m ~ ~ ~ ~ ~ t, ~ ~ 
cfiT SI~ °$n: (Wb) t, 

0

1 

► ~ -tj' 1°Ccffll ~ l:f< ~ cfiT "il"Tc1 WT~ O.B~ ~ 
~o ~ ~ -g 3l~ ~~ cfi1 clT9" ~ ,n: ~ 
cliT ~ ~ ~ t, . ~ qi{ 

► ~ ~ ~ (Organism) ""11 "J:fRq Wffi ~ ~ 11 
mil, ~ q){qJ t. ~ mm ctl1 ~0Gl'11~ d $1 

v:_u21\Jj~ ,3:fUJ.a:n' cfi ]fafsfi<lf ~ ¢ ~ ~ t, 
~ mm t. ~ tl-~z;)ft!!a mm ctl1 ~oilarit ~ 

► ~(Concentration) : fctim ~ $ ~ Jf[cll t, 
-tj' ~ ~~ c!i1 lWIT cfi1 ~ $ ~ -q' ~ 
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